Long Term Causes of the Cold War

The Term Cold War refers to the period of increased political tensions between countries in the Western hemisphere (capitalistic/democratic) and communist Soviet Union in the post WW2 era.

Its origins can be traced back to the Russian Revolution and the growing mistrust of communism and the appeal of a classless society discussed by people like Marx.  

The mistrust was further enhanced by western interference in the Russian Civil War when several western nations sent troops to that nation to fight alongside the Whites.  The victorious Reds never forgot this interference.

The Soviets were isolated by the West, they were not invited to Versailles; the US never formally recognized the USSR until 1933 and the USSR never joined the League of Nations until 1934.

The final act to contribute to the mistrust in the west prior to WW2 was the signing of the Nazi-Soviet pact.  This convinced many that the USSR could never be trusted.

With Operation Barbarossa and the German invasion of the USSR the tensions decreased and the USSR and the West were united in a common enemy: Nazism.  But problems remained.  Stalin felt the reluctance on behalf of Britain and USA to open a second front in Western Europe during WW2 was a conscious decision to let the Soviet army fight alone in Eastern Europe and subsequently be weaker in a post war world. (Remember Dieppe last year).

Tensions continued: as the tide turned in favour of the Allies after the battles at El Alamein, Midway and most importantly Stalingrad a new reality emerged.  If the Soviets continued to enjoy success in 1943 they may liberate not only Eastern Europe but parts of Western Europe too.  This fear was partly realized with Stalin’s acquisition of his sphere of influence that included the hotly debated country of Poland at the Yalta and Potsdam conferences.  The other countries in his sphere eventually become known as the seven Soviet Satellites.
Immediate Post War problems:

Churchill’s Iron Curtain Speech: many say this was the “official” beginning of the Cold War even though the events leading up to it started several years earlier.  If anything the famous “Iron Curtain” speech alerted the world to the increased tensions that only politicians and bureaucrats had been previously aware.  Stalin’s response, the “two hostile camps” speech confirmed that there were problems.  The Cold war goes public and policies reflecting the tensions emerge.

Containment: rather than openly combating Communists do everything to contain its growth or spreading to other countries.  How?

Truman Doctrine and The Marshall Plan see definitions on pg 425 &423

NATO:  here we go again, in a bid for security countries create and join alliances.  The Czech Crisis and The Berlin Blockade convinced the US that economic policies were not enough.  Deterrence was the idea that a strong military would mean the other side would not attack.

For its part The USSR responded to the Marshall Plan with an economic plan of its own: The Molotov Plan (pg.423). They also formed their own military alliance called the Warsaw Pact (pg148).

Czech Crisis and Berlin Blockade:  The first Cold War flashpoints. 

